Hess’s Law

Given:
C(s)+0,(g) —» CO,(9g) AH = -393.5 kJ
S(s)+0,(g) —» SO, (9) AH = -296.8 kJ

CS,()+30,(gyy —» CO,(g)+2S0,(g) AH= -1103.9kJ

Calculate AH for:

C(s)+2S(s) —» CS, () AH = 27
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Give
O, (9)

S(s)+0O,(9)

CS, (1) +3 0, (9)

Calculate AH for:
2S (s)

C(s)+0,(9)

Hess’s Law

—» CO, (9)

'

SO, (9)

—» CO, (9) + 2 S0, (9)

cs, ()

CO, (9)

-393.5 kJ

-296.8 kJ

-1103.9 kJ

77

-393.5 kJ



Give
O, (9)

S(s)+0O,(9)

CS, (1) +3 0, (9)

Hess’s Law

—» CO, (9)
—» S0, (9)

—» CO, (9) + 2 S0, (9)

Calculate AH for:
opon) — e

C(s)+0,(9)

— CO,(9)

-393.5 kJ

-296.8 kJ

-1103.9 kJ

27

-393.5 kJ



Give
% O, (9)
O
w O, (9)

CS, (1) +3 0, (9)

Hess’s Law

—» CO, (9)
—» S0, (9)

—» CO, (9) + 2 S0, (9)

Calculate AH for:
opon) — e

C(s)+0,(9)

— CO,(9)

-393.5 kJ

-296.8 kJ

-1103.9 kJ

27

-393.5 kJ



Hess's Law
Give

O, (9)

—» CO, (g) AH = -393.5 kJ
O,(g) —» SO, (9) AH = -296.8 kJ

€

CS,()+30,(gyy —» CO,(g)+2S0,(g) AH= -1103.9kJ

Calculate AH for:
@ CS, (I) AH = ??
C(s)+0O,(g) —» CO,(9) AH = -393.5 kJ

23(s)+20,(9) —» 230,(9) AH = 2(-296.8) kJ
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Calculate AH for:
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0,(g) —» CO,(9) AH = -393.5 kJ

O,(g) —» SO, (9) AH = -296.8 kJ

+30,(g) —» CO,(g)+2S0,(g) AH= -1103.9kJ

@
Calculate AH far:

C(s)+0,( —» AH = -393.5 kJ

23(s)+20,(g) —» 2S0,(9) AH = 2(-296.8) kJ
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2S(s)+20,(@) —» AH = 2(-296.8) kJ

(2 SO, (g)) —> CS,(I)+30,(g) AH = -(-1103.9) kJ
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—» CO, (g) AH = -393.5 kJ
—» SO, (9) AH = -296.8 kJ

—» CO,(g)+2S0,(g) AH= -1103.9 kJ

Calc ate AH

AH = -393.5 kJ

C(s)+0,(0) —»

2S(s)+20,(g) —»@ AH = 2(-296.8) kJ
0, (q) ,(9)) —> CS,()+30,(g) AH = (-1103.9) kJ
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Calc ate AH
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—» CO, (g) AH = -393.5 kJ
—» SO, (9) AH = -296.8 kJ

—» CO,(g)+2S0,(g) AH= -1103.9 kJ

Calc ate AH

AH = -393.5 kJ

25 (s)( £20,0) —» m AH = 2(-296.8) kJ

(9) — CS,()30,(0)  AH= -(-1103.9) kJ




Hess’s Law

—» CO, (g) AH = -393.5 kJ
—» SO, (9) AH = -296.8 kJ

—» CO,(g)+2S0,(g) AH= -1103.9 kJ

Calc ate AH

AH = -393.5 kJ

25 (s)( £20,0) —» m AH = 2(-296.8) kJ

) —e 08, (|)( ) AH = -(-1103.9) kJ
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—» CO, (g) AH = -393.5 kJ
—» SO, (9) AH = -296.8 kJ
—» CO,(g9)+2S0,(g) AH= -1103.9kJ
AH = ?7?
AH = -393.5 kJ
AH = 2(-296.8) kJ
) AH = -(-1103.9) kJ
C(s)+2S(s) —» CS,() AH = +116.8 kJ



